Winecon/thresholds project
CH.1 What is Economics?

Introduction
After covering the basic economic problem in the lecture we are now going to reinforce these ideas by working through part of chapter 1 of Winecon.  You do not need to work through all of chapter 1, but only the relevant sections that are identified below in order to answer the questions on this sheet. 
Section number: 1.1 Introduction to economics & Objectives and actions: Allocating a health budget
1.
After working through the 'Allocating a health budget' activity to initially save a total of 356 lives (the maximum possible given the budget), fill in the spaces below.


Disease 






A
B
C

% of budget spent on each disease




in order to maximise the total number of





lives saved: 





_
_
_

Lives saved for each disease



_
_
_

What is your budget? £____________ 


How much do you spend on each disease? A £______ 

B £______

C £______

Which patients lose out?______

2. Explain how the concept of opportunity cost is relevant in question 1.

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

3. As you work through the activity the price of treating disease C falls. What is the effect on treatment for patients with diseases A, B and C?  

What is the change in the price of treating disease C as you work through the activity?___________

Following a fall in the price of treating disease C fill in the spaces below.


Disease 






A
B
C

% of budget spent on each disease




in order to maximise the total number of





lives saved: 





_
_
_

Lives saved for each disease



_
_
_


Total number of lives saved?________


How much do you now spend on each disease?

(note: your total budget is unchanged) 

A £______ 

B £______

C £______

4.
Is opportunity cost relevant to question 3?

Yes / No   

(circle your response)

Give a reason for your answer.

